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The following learning goals will be addressed during today’s session.

Pause and allow time for reading.
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Although many of you have heard the term “value‐added” before, there is often confusion 
as to the real meaning. Having a common understanding of AGT will lay the foundation for 
what is to follow. AGT, is one of many measures used to measure teacher and school 
contribution to student learning. It takes into consideration variables that are out of the 
control of the school or teacher. By considering these variables, it helps to isolate the actual 
contributions of schools and teachers. When combined with other measures it becomes 
even more powerful.
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This list on this slide summarizes the reasons LAUSD is adopting AGT.
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Recall the power of two.
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When we distinguish this grid by adding another dimension…AGT, we see that there are 
clear differences between schools H and E and schools F and G. We will explore these 
differences in the following examples.
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In this analogy, we will look at concepts of achievement, simple growth and AGT. We will 
also explore the concept of prediction and controlling for variables.

Measurement
 Attainment
 Simple Growth
 Academic Growth over Time

Control VariablesControl Variables
Prediction
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For the past year, these gardeners have been tending to their oak trees trying to maximize 
the height of each tree. Each gardener used a variety of strategies to help their own tree 
grow. We want to learn which of these two gardeners was more effective with their 
strategies.
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To measure the performance of the gardeners, we will measure the height of the trees 
today, 1 year after they began tending to the trees. With a height of 61 inches for Oak Tree 
A and 72 inches for Oak Tree B, we find Gardener B to be the more effective gardener. This 
method is analogous to using an Achievement Model to evaluate performance.
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But, this achievement result does not tell the whole story. More data is needed! These 
gardeners did not start with acorns. The trees are 4 years old at this point in time. We need 
to find the starting height for each tree in order to more fairly understand each gardener’s 
performance during the past year.
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We can compare the height of the trees one year ago to the height today. By finding the 
difference between these heights, we can determine how many inches the trees grew 
during the year of gardener’s care. By using this method, Gardener A’s tree grew 14 inches 
while Gardener B’s tree grew 20 inches.   Oak B had more growth this year, so Gardener B is 
the more effective gardener. This is analogous to using a Simple Growth Model.
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But this simple growth model does not tell the entire story either. We do not know how 
much of this growth was due to the strategies used by the gardeners. This is an “apples to 
oranges” comparison. What might be some environmental factors that are out of the 
gardeners’ control?

Pause

For this example we will look at rainfall temperature and soil richnessFor this example, we will look at rainfall, temperature and soil richness.
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Based on the data for our trees, we can see what kind of external conditions the trees 
experienced. The data tell us that Oak Tree A was in a region with high rainfall, low soil 
richness and high temperatures. Oak tree B was in a region with low rainfall. High soil 
richness and low temperatures. 

We can use this information to calculate a predicted height for each tree today if it was 
being cared for by an average gardener in the area. We examine all oak trees in the region 
to find an average height improvement for trees Then we adjust this prediction for theto find an average height improvement for trees. Then we adjust this prediction for the 
effect of each tree’s environmental conditions. We compare the actual height of the trees 
to their predicted heights to determine if the gardener’s effect was above or below 
average.
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Remember, to make our initial prediction, we use the average height improvement for all 
trees. Based on our data, the average improvement for oak trees in the region was 20 
inches during the past year. We start with the trees’ height at age 3 and add 20 inches for 
our initial prediction. Next, we will refine our prediction based on the growing conditions 
for each tree.
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From the data we collected for our region, we find that more rainfall and higher soil 
richness contributed positively to growth. Higher temperatures contributed negatively to 
growth. With those growth trends, we need to convert them into a form usable for our 
predictions. 

For example, we found that oak trees that experienced low rainfall tended to have 5 fewer 
inches of growth compared to the average growth of oak trees in the region. Trees with 
medium rainfall tended to have two fewer inches of growth and tress with high amounts ofmedium rainfall tended to have two fewer inches of growth and tress with high amounts of 
rainfall tended to have three more inches of growth compared to the average. This table 
shows the adjustments made for all three environmental conditions.
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Since oak tree A had high rainfall, low soil richness and high temperatures we adjusted the 
initial prediction of 20 inches by adding three inches, subtracting three inches and 
subtracting eight inches again to compensate. The same process was conducted for oak 
tree B. Once we have refined our predictions based on the effect of environmental 
conditions, our gardeners are on a level playing field. The adjusted predicted height for 
trees in Oak A’s conditions is 59 inches. The adjusted predicted height for trees in Oak B’s 
conditions is 74 inches. This is an apples to apples comparison.
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When we compare the actual height of the trees to our predictions we find that Oak A’s 
actual height of 61 inches is 2 inches more than we predicted.  We attribute this above‐
average result to the effect of Gardener A. Oak B’s actual height of 72 inches is 2 inches less 
than we predicted.  We attribute this below‐average result to the effect of Gardener B.
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To get a clear sense of each gardener’s effectiveness, we need to look at all of the trees in 
their care during the last year. For Gardener A, some trees may have grown more or less 
than the 2 inches to give an average of 2.1 inches above predicted.  For Gardener B, the 
average growth was 1.8 inches less than the prediction.  This is analogous to an AGT model. 
Now, who is the most effective gardener?  Note:  AGT applies several statistical techniques 
beyond a simple average to ensure statistical significance. 
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Facilitate the discussion about the strengths and limitations of each of these measures.
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These are the control variables that are considered in the LAUSD AGT reports.

But what does this mean in terms of an educational context? Like the Oak Tree Analogy 
where we controlled for environmental factors, in AGT, we control for other factors or 
variables like prior achievement and low‐income status. This list indicates the control 
variables used in LAUSD. These variables help to isolate the teacher’s and school’s 
contributions to student growth. These are measureable student characteristics outside of 
the control of the teacher or school which are associated with meaningful differences inthe control of the teacher or school which are associated with meaningful differences in 
student outcomes. It is important to understand that the actual district data and the model 
itself determine the relationship to student achievement. 
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Schools and classrooms where students are improving faster than predicted indicate high 
AGT. Schools or classrooms where students are growing slower than predicted indicate low 
AGT.
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It makes sense that a reading or ELA test would be a good predictor of future reading 
performance and that a prior math test would be predictive of a future math test.

However, when tests are non‐contiguously tested, it may not be as simple.
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Since science is first tested in grade 5, and there are no prior science tests, what might be 
used to predict science performance?

Given the following information about three students, can you make a prediction of each 
student’s performance?  How certain are you in your prediction?  Would more information 
be helpful?

Facilitate the discussionFacilitate the discussion.
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With information about each student’s performance in reading and math, make a 
prediction of their likely performance in science.  Did any predictions change from the 
previous slide?

OPTION 1 : Reinforce the concept of control variables by telling crowd Tom is an ELL 
student.
Does this change their prediction for Tom?

OPTIONAL 2:  Pick up on the confidence question to reinforce the concept of a confidence 
interval.

26



The correlations in this chart do not represent LAUSD, it is simply conceptual.

It’s easy to see how a prior 4th grade science test could be predictive of 5th grade science (if 
it were tested in your district).  The 0.85 indicates a strong relationship between those 
tests.  Without a 4th grade science test, and using 4th grade math and reading, you can see 
there is a strong relationship between both of these tests and the science test.  These 
strong relationships give us an indication that they would be good predictors for science 
AGTAGT.

The relationship between 4th grade social studies and 5th grade math is weak.  This would 
not be an ideal predictor test for 5th grade math AGT.
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Facilitate discussion.
Let the crowd discuss options.  Narrow options to Algebra, Algebra II and General Math.
Crowdsource (vote).

In a midwestern urban school district, Algebra II had the strongest relationship.   But 
Algebra II is not in the curricular sequence (i.e., most take geometry before algebra II).  
Discuss the difference between a prior predictor test and a “pre‐test.”  (Pre‐tests tend to 
presume curricular sequence )presume curricular sequence.)
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Again, testing knowledge to understand predictive tests. 
Crowdsource (vote).

In a midwestern urban school district, the strongest predictor test was English.
Reinforce these may not be true for LAUSD, but this is to teach the concept.
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Next we will examine the contents of an AGT report and learn how to read and interpret 
the information.
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As we explore AGT, we will be asking you to interpret various signals from AGT data.  It’s 
often said that “AGT tells you what is happening, but not why.”  

In order to understand why, we must use a problem‐solving process such as LAUSD’s 
response to intervention (RTI2).  This process should first focus on identifying strengths, 
problems and opportunities.  We will explore AGT further and begin to apply the RTI 
process to understand how to accelerate all youth achieving.
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These additional subjects are being included for the new 2011 AGT results.
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Your AGT report includes informational text that will help you understand each section. The 
reports provide an overall school AGT result for tested subjects used in the analysis, results 
for individual grade levels and subjects and specific student groupings chosen by your 
district. Student groupings or differential effects that often are chosen demonstrate how 
different groups of students are performing when compared to each other. Common 
groupings are Academic peer level, Students with Disabilities and Students that have Free 
or Reduced Lunch Status.

36



The district has chosen a five‐color key to describe AGT results. These results and colors 
indicate whether student growth was far above, above, no different than, below or far 
below the district AGT average.

Pause for reading
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In order to better understand the reports, we will take a few minutes for a refresher on a 
few technical terms from statistics to understand results and confidence interval. Each 
analysis produces an AGT result and a confidence interval in order to communicate the 
precision of each result. The true confidence interval indicates a range of where the true 
result lies. In this case the AGT result is 3.6. The result could be somewhere between 2.9 
and 4.3. However it would be less likely to be closer to the ends of the confidence interval. 
The confidence interval is mostly affected by the number of students included in the 
analysis and by how student test scores are distributed and relatedanalysis and by how student test scores are distributed and related. 
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This is a sample of an LAUSD AGT result.

In this case, we are looking the school‐wide AGT result in English Language Arts for the 
2009‐2010 school year.  Notice that results are on a scale from 1 to 5 with 3 being the 
District average.

The yellow arrow is pointing to the number of students in this result

The green arrow is pointing to the result itself, which includes a point estimate of 3.1 as 
well as a confidence interval – the black line under the point estimate – that stretches from 
approximately 2.7 to 3.6.

In this example, the bubble is grey because the confidence interval stretches across the 
district average.

3.1 and the grey bubble indicate that these students are not growing in a manner that is 
significantly different from the district average. 

This report shows the overall AGT results. The information in this report is an aggregate of 
all the grades in the school included in the analysis. High School reports may also have an 
overall subject aggregate result that is related to “end of course” exams.overall subject aggregate result that is related to  end of course  exams. 
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•Third grade students are growing faster than the district average. 
•They are far above their predicted score.  Notice that both the point estimate and the 
confidence interval are above 4, indicating a far above average AGT result.  
•The third grade team has grown students at a rate that far exceeds what the typical third 
grade team in LAUSD has produced with similar students.
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•Educators may want to compare two student groups to each other.
•It is true this school’s performance with students whose performance category is 
Advanced/Proficient is close to the district average for all students in LAUSD who are 
Advanced/Proficient.
•It is true the school’s performance with students whose performance category is Basic is 
far above all students in LAUSD whose performance category is Basic.
•It is not necessarily true that  students in the Basic performance category grew more than 
students in the Advanced/Proficientstudents in the Advanced/Proficient
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Often, there are other student groupings included in the reports.  This list shows some 
common groupings that are chosen by districts. 

In LAUSD, the following student groupings are included in the reports.
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•LAUSD will provide teachers with individual classroom‐level value‐added reports.
•Like the school reports, these reports will provide powerful information for teacher 
reflection and improvement in student learning.
•They look very similar to the school reports and can be read and interpreted in the same 
way.
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Shared Vision is about leading people around a focus on student learning, that all kids can 
learn, and we are here to ensure that.

Supervision of instruction involves ongoing, coherent guidance for implementation and 
continuous improvement of teaching and learning. It facilitates the development of school 
wide commitment to multiple measures of student learning to guide teaching and learning.

Investing in teacher quality involves an ongoing commitment by school leaders to workInvesting in teacher quality involves an ongoing commitment by school leaders to work 
collaboratively towards the development of highly effective teachers who are able to 
consistently improve student outcomes and to assume leadership roles through 
differentiated professional growth opportunities and support. 
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Let’s apply the 4‐step RTI process here. 

If audience struggles with “they’re doing great,” ask a provocative question. How much 
student learning is enough?  Is there an opportunity?  

In this case, we are looking first at strengths with Basic and Below Basic/Far Below Basic 
students.  Compared to historical performance, AGT appears to be even higher in our past 
academic yearacademic year.

The results with GRAY 3.0 for Advanced/Proficient students indicate our students are 
responding well, but also signals an opportunity to improve their performance.  How?

We will next engage the crowd on the frameworks to improve instruction for all youth.
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Engage the crowd on each domain of the Teaching and Learning Framework until one 
idea for each: 

1. Planning and Preparation
2. Classroom Environment
3. Instruction
4. Additional Professional  

Responsibilities
5. Professional Growth
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Engage the crowd on each domain of the School Leadership Framework until one idea for 
each: 
1. Shared Vision
2. Supervision of Instruction
3. Investing in Teaching Quality 
4. Culture of Learning and Positive Behavior
5. Family and Community Engagement
6 Systems and Operations6. Systems and Operations
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Engage the crowd on each domain of the Teaching and Learning Framework until one 
idea for each: 
1. Planning and Preparation
2. Classroom Environment
3. Instruction
4. Additional Professional  Responsibilities
5. Professional Growth
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Engage the crowd on each domain of the School Leadership Framework until one idea for 
each: 
1. Vision
2. Supervision of Instruction
3. Investing in Teaching Quality 
4. Culture of Learning and Positive Behavior
5. Family Community Engagement
6 Systems and Operations6. Systems and Operations
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